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Math 1711 Finite Math Spring ’14

Quiz 7
Show all your work to receive full credit. Use the following to answer questions 1&2.
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1. Compute AB, or say it is not defined. 1§ BA defined? £ (3 pts. each)
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2. Find the reduced row echelon form of A and B using Gauss-Jordan elimination.
(3 pts. each)
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3. Let
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Suppose that A is the augmented matrix of a linear system of equations and that
rref(A) is the reduced row echelon form of A. Write down the system of equations

that A represents and find all solutions to this system. (3 pts.)
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